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2. (a.) Determine the causal signal
having the z-transform

x(' 1,)=M

The figures ln the margln lndlcate
full ntr;rks .for the quesdotts.

Answer ang ten question"s out of thtrteen.

1. (a) Determine the RMS value of

s(t)=1osin(roo,.f) and

U(t)=stn2t 'cos3t '

(b) Find u(n - 1)-a (" -z).
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11. (a)

(b)

L2' (q')

(b)

s3 (rE 403) LSSG/G

Draw the following :

"(t)-u(t 
+z) 4

When a system is called non-causal ?

Find the even part of

x(n)={1,3, -5,4,6,-2\. 6

When a system is called an active
system ? 

4

Prove that r(t). d(t -to)= x(to).a(t - to).
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